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Sticky Note
Yes. Sec 3.2.2 would precede Example 3.1







wgreene
Sticky Note
Yes.  After Example 9.3







wgreene
Sticky Note
Yes, appears after Example 14.16

wgreene
Sticky Note
16.9.6.c should be 14.9.6.c
16.9.6.d should be 14.9.6.d



wgreene
Sticky Note
Yes, appears after Example 16.5
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Sticky Note
Yes, Attrition, not Attritioni

wgreene
Sticky Note
No



wgreene
Sticky Note
No, these three should not be added to the lost of Examples.
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Sticky Note
Yes.  Follows Example 20.4
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Sticky Note
No, "Covariance" is correct
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Yes






